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TDP (General) 1st Semester Exam., 2017

PHILOSOPHY
( General )
FIRST PAPER

Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks
for the questions

Candidates are required to give their answers in their
own words as far as practicable

UNIT—I

1. (a) Explain the different objections raised by the

Carvakas against inference as a pramana.

(b)

Are those objections tenable? Discuss. 6+4-1¢

OR

2. (a) What is sannikarsa?

(b)

Discuss any four kinds of laukika sannikarsa
with suitable examples. 2+(4%2)=10
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UNIT—II

1 mitted by
3. (a) Discuss the nature of samavdya ad

the Vaisesikas.

i tween
(b) Mention any four points of difference betw o
Samavaya and Samyoga.

OR

4. (a) What is Abhava?

(b) Explain with examples different kinds of

Abhava. 2+8=10

UNIT—III

S. (a) “‘Sense eXperience is the source of g]]

knowledge.” Which school holds this theory?
(b)

What can be sajd ip favour of thig theory and
against thijs theory?

1+5+4:10

6. (a)

(b) Explain

6+4:10
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UNIT—IV

7. (a) How many substances are there according to
Locke? Name them.

(b) Explain briefly Locke’s view of substance.

(c) Ts his view tenable? Discuss. 2+5+3=10

OR

8. Critically explain the entailment the

ory of causal
relation.

10
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TDP (General) 1st Semester Exam., 2018

PHILOSOPHY
( General )
FIRST PAPER
Full Marks : 40

TNime : 2 hours

The figures in the margin indicate full marks
for the questions

Candidates are required to give their answers in their
own words as far as practicable

UNIT—I

1. “Perception is the only source of valid
knowledge."

(a) Analyze the reasons given by the Carvakas in
favour of the above mentioned statement.

(b) Is this view acceptable? Discuss briefly. 7+3=10

OR

2. (a) Define Pratyaksa after Nyaya philosophy.
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(b) What are Nirvikalpaka and Savikalpaka
pratyaksa?

(c) Whatare the differences between Nirvikalpizka
and  Savikalpaka pratyaksa after Nyaya

philosophy? 2+2+6=10
UNIT—II
3. Discuss the nature of Samanya after Vaisesika
Philosophy. 10
OR
4.

(a) Explain the theo

Iy of Paramanuvads of
Vaisesika philoso

phy.

(b) Is this theory acceptable? Discuss. 5+5=10
M9 /88a

( Continued )




| (3)

OR

SR
4R
‘B !
5
i)
/27
2f
i fi
[/t s
[
1
#
?
%

6. (a) What 1s meant by ‘corrcspondcnce’ in a
theory of truth?

(b) Discuss the view of correspondence theory
of truth.

(c) Briefly explain, how far this theory is

acceptable. 2+5+3=10

UNIT—IV

7. (a) What is meant by Naive Realism?

(b) Briefly discuss the main views of Naive

Realism.

(c) Does thistheory explain erroncous perception
and dream-knowledge? Write in short.

2+5+3=10

OR

8. Critically explain the re '
gularity theo
relation. v of cansal

10

* % k

M9—1920/88a
S-1/PHIG/01/18



yar/

9/0¢_b (\?V‘(N/ﬂ | R
h

ot S-1/PHIG/01/19

{pP (General) 1st Semester Exam., 2019

PHILOSOPHY
( General )
FIRST PAPER

Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks
for the questions

Candidates are required to give their answers in their
own words as far as practicable

UNIT—I

1. (a) What is meant by Pramapa in Indian
Philosophy?

(b) Why does not the Carvaka accept Anumana
(inference) as a Pramana? Discuss.

(b) Explain whether this view of the Carvaka is
acceptable or not. 2+5+3=10

OR
2. (a) What is Sannikarsa?

(b) Di.scuss any four kinds of Laukika Sannikarsa
with suitable examples. 2+(4%x2)=10
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. (a)

(b)

. (a)
(b)

. (a)

(b)

. (a)
(b)

(2) \

UNIT—I]

Define and explain Samava ya after Vai$esika
philosophy.
Distinguish between Samava yaand Samyoga.
5+5=10
OR

What is Abhava?

Explain with exam

ples different kinds of
Abhava,

2+8=10

UNIT—I]]

Who is the founder of the theory of Criticism
about origin of knowledge‘?

Explain and €Xamine the t

heory of ‘criticism’
regarding the origin of kp

owledge, 2+8=10

OR

Discuss the Pragmatic theory of truth,

20M/90a
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(3)
ynrt—V
in the representativ realism of
10
OR
ntailment theory usal
6+4=1
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